FORD RAPTOR V6TT
Bonnet Strut Kit

DMRAP-BSK

1, Gas Strut

2, Bracket — Bonnet — RH

3, Bracket — Bonnet — LH

4, Bracket — Lower — RH

5, Bracket — Lower — LH

6, Bracket — Lower Support — RH
7, Foam Spacer 80 x 25 x 5mm

8, Bolt — M5 x 12mm Button Head SS
9, Washer — Body — M5 x 13mm SS
10, Nut — Nyloc — M5

11, Washer - Flat - M6

X2
x1
x1
x1
x1
x1
X2
x4
x8
x4
x3



